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1. Complete the last column of the table:

5. | Equation Value Say, whether the Equation
No. is Satisfied. (Yes/ No)
M| x+3=0 x=13
| x+3=0 x=0
{m | x+3=0 x=-3
iv) | x-7=1 x=T
W | x=7=1 x=8
(vi) | S5r =25 x=0
(vl) | 5x =25 x=5
{viil} | Sx =25 x=-5
| = =2 m=—6
3
®) ? =2 m=0
] m
() 3 =2 m=06

COMPANION ALL IN ONE-7

SUPER

o Watch Video Solution



https://dl.doubtnut.com/l/_Mkx4CD4EI0lr

2. Check whether the value given in the
breackets is a solution to the given equation

or not: n + 5=19(n=1)

o Watch Video Solution

3. Check whether the value given in the
breackets is a solution to the given equation

or not: 7n + 5 =19(n=-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_LHfcGl6p9L80
https://dl.doubtnut.com/l/_VMWA0ecFcGDT
https://dl.doubtnut.com/l/_Rk6M43eXJvIb

4. Check whether the value given in the
breackets is a solution to the given equation

or not: 4p - 5 =13(P=1)

o Watch Video Solution

5. Check whether the value given in the
breackets is a solution to the given equation

or not: 4p -3 =13(P =-4)

o Watch Video Solution



https://dl.doubtnut.com/l/_Rk6M43eXJvIb
https://dl.doubtnut.com/l/_0R6zQfX7LwX8
https://dl.doubtnut.com/l/_mIDR8AvZCpPb

6. Check whether the value given in the
breackets is a solution to the given equation

or not: 4p-3=13 (P=0)

o Watch Video Solution

7. Solve the following equations by trial and

error method: 5p+2=17

° Watch Video Solution



https://dl.doubtnut.com/l/_mIDR8AvZCpPb
https://dl.doubtnut.com/l/_mspFvPHZ2u0O

8. Solve the following equations by trial and

error method: 3m-14=4

o Watch Video Solution

9. Write equations for the following

statements: The sum of numbers X and 4 is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_MoZUoCQILnuR
https://dl.doubtnut.com/l/_Eudu4zltj00A

10. Write equations for the following

statements: 2 subtracted fromy is 8.

° Watch Video Solution

1. Write equations for the following

statements: The number b divided by 5 gives 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_PZRIjzNAzoSf
https://dl.doubtnut.com/l/_v1OaX4TabfgN

12. Write equations for the following

statements: Three-fourth of t is 15.

° Watch Video Solution

13. Write equations for the following

statements: Seven times m plus 7 gets you 77.

o Watch Video Solution



https://dl.doubtnut.com/l/_4vEqMzdaqB5V
https://dl.doubtnut.com/l/_GESdRtMM4LyY

14. Write equation for the following
statement: One-fourth of a number x minus 4

gives 4.

o Watch Video Solution

15. Write equations for the following
statements: If you take away 6 from 6 times vy,

you get 60.

o Watch Video Solution



https://dl.doubtnut.com/l/_saPIPoDs2sRO
https://dl.doubtnut.com/l/_gBjYcwNfHbPP
https://dl.doubtnut.com/l/_5yrf7S35fbk0

16. Write equations for the following
statements: If you add 3 to one -third of z, you

get 30.

o Watch Video Solution

17. Write the following equations in statement

forms: P+4=15

o Watch Video Solution



https://dl.doubtnut.com/l/_5yrf7S35fbk0
https://dl.doubtnut.com/l/_OBtrFEAFqgmk

18. Write the following equations in statement

forms: m+7=3

o Watch Video Solution

19. Write the following equations in statement

forms: 2m=7

o Watch Video Solution



https://dl.doubtnut.com/l/_g4dLMmTRCpFm
https://dl.doubtnut.com/l/_bF1Wmt9ZrboJ

20. Write the following equation in statement

m
f s — =
orm = 3

o Watch Video Solution

21. Write the following equation in statement

m
f 33— =06
orm =

o Watch Video Solution



https://dl.doubtnut.com/l/_RChMZwnlq7j6
https://dl.doubtnut.com/l/_DocXHYK75rVD

22. Write the following equations in statement

forms: 3P+4=25

o Watch Video Solution

23. Write the following equations in statement

forms: 4P-2=18

o Watch Video Solution



https://dl.doubtnut.com/l/_O8Zhe9lHXlq9
https://dl.doubtnut.com/l/_OAS5nsEou1re

24. Write the following equation in statement

form: P/2+2=8

° Watch Video Solution

25. Set up an equation in the following cases:
Irfan says that he has 7 marbles more than five
times the marbles Parmit has. Irfan has 37
marbles. (Take m to be the number of Parmit's

marbles).

° Watch Video Solution



https://dl.doubtnut.com/l/_fpuejvTiCqEu
https://dl.doubtnut.com/l/_pb64WdClWUsv

26. Set up an equation in the following cases:
Laxmi's father is 49 years old. He is 4 years
older than three times Laxmi's age. (Take

Laxmi's age to be y years).

o Watch Video Solution

27. Set up an equation in the following cases:
The teacher tells the class that the highest

marks obtained by a student in her class is


https://dl.doubtnut.com/l/_pb64WdClWUsv
https://dl.doubtnut.com/l/_YzV11yVuVy34
https://dl.doubtnut.com/l/_m0TYMi2BOS98

twice the lowest marks plus 7. The highest

score is 87. (Take the lowest score to be ).

° Watch Video Solution

28. Set up an equation in the following cases:
In an isosceles traingle, the vertex angle is
twice either base angel. (Let the base angle be
b in degrees. Remember that the sum of

angles of a traingle is 180 degrees.

° Watch Video Solution



https://dl.doubtnut.com/l/_m0TYMi2BOS98
https://dl.doubtnut.com/l/_fvUiQyy3WnaU
https://dl.doubtnut.com/l/_SqA48bUvgqYG

29. Give first the step you will use to separate

the variable and then solve the equation:

xr—1=0

° Watch Video Solution

30. Give first the step you will use to separate
the variable and then solve the equation:

xr+1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_SqA48bUvgqYG
https://dl.doubtnut.com/l/_voVIh6DJPZ2u
https://dl.doubtnut.com/l/_xH3FPbRotRY6

31. Give first the step you will use to separate

the variable and then solve the equation:

r—1=25

° Watch Video Solution

32. Give first the step you will use to separate
the variable and then solve the equation:

r+6=2

° Watch Video Solution



https://dl.doubtnut.com/l/_xH3FPbRotRY6
https://dl.doubtnut.com/l/_bfdOY9eO9MRp

33. Give first the step you will use to separate

the variable and then solve the equation:

y—4= —17

o Watch Video Solution

34. Give first the step you will use to separate

the variable and then solve the equation:

y—4=4

o Watch Video Solution



https://dl.doubtnut.com/l/_H0vjgM6j5dfm
https://dl.doubtnut.com/l/_ETpxYd8g80m0
https://dl.doubtnut.com/l/_B4nWCWISSIE3

35. Give first the step you will use to separate
the variable and then solve the equation:

y+4=4

o Watch Video Solution

36. Give first the step you will use to separate
the variable and then solve the equation:

y+4= —4

o Watch Video Solution



https://dl.doubtnut.com/l/_B4nWCWISSIE3
https://dl.doubtnut.com/l/_0HSNS4yVOBEz
https://dl.doubtnut.com/l/_8d6nKHTbZrOP

37. Give first the steps you will use to separate
the variable and then solve the equation:

31=42

o Watch Video Solution

38. Give first the steps you will use to separate

the variable and then solve the equation:

5 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_8d6nKHTbZrOP
https://dl.doubtnut.com/l/_JhmUR41heYTm

39. Give first the steps you will use to separate

the variable and then solve the equation:

Z 1
7

o Watch Video Solution

40. Give first the steps you will use to separate

the variable and then solve the equation:

dr = 25

o Watch Video Solution



https://dl.doubtnut.com/l/_nXnMZ2k1pPzX
https://dl.doubtnut.com/l/_OyLxyaIirBqe
https://dl.doubtnut.com/l/_QaDcd1Nw3iXE

41. Give first the steps you will use to separate

the variable and then solve the equation:

8y = 36

o Watch Video Solution

42. Give first the steps you will use to separate

the variable and then solve the equation:

o Watch Video Solution



https://dl.doubtnut.com/l/_QaDcd1Nw3iXE
https://dl.doubtnut.com/l/_TTQ2MGEmnKMs
https://dl.doubtnut.com/l/_oVvvOEukwEwz

43. Give first the steps you will use to separate

the variable and then solve the equation:

a 7

5 15

o Watch Video Solution

44, Give first the steps you will use to separate

the variable and then solve the equation:

20t = — 10

o Watch Video Solution



https://dl.doubtnut.com/l/_oVvvOEukwEwz
https://dl.doubtnut.com/l/_qNUR3H9vYtFl

45, Give the steps you willuse to separate the

variable and then solve the equation: 3n-2=46.

° Watch Video Solution

46. Give the steps you willuse to separate the

variable and then solve the equation: 5m+7=17.

o Watch Video Solution



https://dl.doubtnut.com/l/_zDTl06YDONja
https://dl.doubtnut.com/l/_c244sOIuGUtb

47. Give the steps you willuse to separate the

variable and then solve the equation:

2P—4O
s £ =40

o Watch Video Solution

48. Give the steps you willuse to separate the

variable and then solve the equation:

3£ = 6.
10

o Watch Video Solution



https://dl.doubtnut.com/l/_JuiuQtdDP9gm
https://dl.doubtnut.com/l/_FAhcNwXI4GnR
https://dl.doubtnut.com/l/_r8Tuu2SFvvQz

49, Solve the following equations: 10P=100

o Watch Video Solution

50. Solve the following equations: T0P+10=100

o Watch Video Solution

51. Solve the following equations: P/4=5

o Watch Video Solution



https://dl.doubtnut.com/l/_r8Tuu2SFvvQz
https://dl.doubtnut.com/l/_DepC1ro5gUzP
https://dl.doubtnut.com/l/_JJA1AAjOjVnb
https://dl.doubtnut.com/l/_v1PeH7cKuwwd

52. Solve the following equations: 3P/4=6

o Watch Video Solution

53. Solve the following equations: 35=-9

o Watch Video Solution

54. Solve the following equations: 35+12=0

o Watch Video Solution



https://dl.doubtnut.com/l/_v1PeH7cKuwwd
https://dl.doubtnut.com/l/_cZxkNRziNHWW
https://dl.doubtnut.com/l/_QBF23YZKSrBt
https://dl.doubtnut.com/l/_4oQLq6RG9Mzw

55. Solve the following equations: 35=0

o Watch Video Solution

56. Solve the following equations: 35=0: 2q=6

o Watch Video Solution

57. Solve the following equations: 2g-6=0

o Watch Video Solution



https://dl.doubtnut.com/l/_4oQLq6RG9Mzw
https://dl.doubtnut.com/l/_jRIgON97He4R
https://dl.doubtnut.com/l/_Cpd8B919CiH5
https://dl.doubtnut.com/l/_GjkCLtETW5xx

58. Solve the following equations: 2q+6=0

o Watch Video Solution

59. Solve the following equations: 2q+6=12

o Watch Video Solution

60. Solve the following  questions:

5><— 5
5 —

° Watch Video Solution



https://dl.doubtnut.com/l/_GjkCLtETW5xx
https://dl.doubtnut.com/l/_VXhHGhazcG5m
https://dl.doubtnut.com/l/_Dquu3YDEll43

61. Solve the following  questions:
5t + 28 = — 10

o Watch Video Solution
62. Solve the following  questions:

a
Z43= -2
5

o Watch Video Solution



https://dl.doubtnut.com/l/_Dquu3YDEll43
https://dl.doubtnut.com/l/_ma3cAbMgaXh4
https://dl.doubtnut.com/l/_Dtzj2posNf2F

63. Solve the following questions:

4 17=5

4
o Watch Video Solution
64. Solve the following  questions:
> X = —35
> =
o Watch Video Solution
65. Solve the following  questions:



https://dl.doubtnut.com/l/_6WCQQu8LuQC1
https://dl.doubtnut.com/l/_PUhraiVDe2Dk
https://dl.doubtnut.com/l/_zgW9QR1xyb7r

o Watch Video Solution

66. Solve the following  questions:
19
m+ — =13
2
o Watch Video Solution
67. Solve the following  questions:

6z+ 10 = — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_zgW9QR1xyb7r
https://dl.doubtnut.com/l/_1U2Wba2Mc2fU
https://dl.doubtnut.com/l/_TG1Bcs13dwHB
https://dl.doubtnut.com/l/_iRPttWTAu5rw

: : 31 2
68. Solve the following questions: — = —

2 3
o Watch Video Solution
, _ 2b
69. Solve the following questions: 5 5=3

o Watch Video Solution

70. Solve the following equations: 2(x+4)=12

o Watch Video Solution



https://dl.doubtnut.com/l/_iRPttWTAu5rw
https://dl.doubtnut.com/l/_QKqw8LLwbqXW
https://dl.doubtnut.com/l/_Hcf9BedaGxFP
https://dl.doubtnut.com/l/_b0Gwrv66ALtJ

71. Solve the following equation: 3(n-5)=21

o Watch Video Solution

72. Solve the following equations: 3(n-5)=-21

o Watch Video Solution

73. Solve the following equations: -4 (2+x)=8

o Watch Video Solution



https://dl.doubtnut.com/l/_b0Gwrv66ALtJ
https://dl.doubtnut.com/l/_j6Qb8OWabHqX
https://dl.doubtnut.com/l/_y5ffgIe03qdL
https://dl.doubtnut.com/l/_RdRMjkvnhsrR

74.Solve the following equations: 4(2-x)=8

o Watch Video Solution

75.Solve the following egations: 4=5(P-2)

o Watch Video Solution

76. Sovle the following eqations: -4=5(P-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_RdRMjkvnhsrR
https://dl.doubtnut.com/l/_rwxtAxSIPvrR
https://dl.doubtnut.com/l/_ZP46lr8QAOPM
https://dl.doubtnut.com/l/_tIB1PVyu6aI6

77. Solve the following eqations: 16=4+3(P+2)

o Watch Video Solution

78. Solve the following egations: 4+5(P-1)=34

o Watch Video Solution

79. Sovle the following egations: 0=16+4(m-6)

o Watch Video Solution



https://dl.doubtnut.com/l/_tIB1PVyu6aI6
https://dl.doubtnut.com/l/_UGn7Bo7dqw8M
https://dl.doubtnut.com/l/_vmNsVTuyTFoR
https://dl.doubtnut.com/l/_GGFSXxiHb883

80. Constuct 3 equation with x=2.

° Watch Video Solution

81. Construct 3 equations with x=-2.

° Watch Video Solution

82. Set up equation and solve to find the
unknown numbers in the following case: Add 4

eight time a number, you get 60.

| N |


https://dl.doubtnut.com/l/_GGFSXxiHb883
https://dl.doubtnut.com/l/_0T5NvlGMBg8A
https://dl.doubtnut.com/l/_kPIa819NjeqY

| ¥ Watch Video Solution |

8. Set up equations and solve them to find
the unknown numbers in the following cases:

One-fifth of a number minus 4 gives 3.

o Watch Video Solution

84. Set up equations and solve them to find
the unknown numbers in the following cases:
If | take three-fourths of a number and add 3

to it. | get 21.


https://dl.doubtnut.com/l/_kPIa819NjeqY
https://dl.doubtnut.com/l/_1XR4VO23EDSo
https://dl.doubtnut.com/l/_GcMVd3WljdwG

° Watch Video Solution

85. Set up equations and solve them to find
the unknown numbers in the following cases:
When | subtracted 11 from twice a number the

result was 15.

o Watch Video Solution

86. Set up equations and solve them to find

the unknown numbers in the following cases:


https://dl.doubtnut.com/l/_GcMVd3WljdwG
https://dl.doubtnut.com/l/_JpWf8z0B4jvB
https://dl.doubtnut.com/l/_uoBhYbnOESaO

Munna subtracts thrice the number of
notebooks he has from 50, he finds the result

to be 8.

o Watch Video Solution

87. Set up equations and solve them to find
the unknown numbers in the following cases:
Ibenhal thinks of a number. If she adds 19 to it

and divides the sum by 5, she will get 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_uoBhYbnOESaO
https://dl.doubtnut.com/l/_7zGvMyAC8czi
https://dl.doubtnut.com/l/_i8aOckxUaj9g

88. Set up equations and solve them to find
the unknown numbers in the following cases:
Anwar thinks of a number. If he takes away 7

from 3 of the number, the result is 23.

o Watch Video Solution

89. Set up an equation in the following cases:
The teacher tells the class that the highest
marks obtained by a student in her class is
twice the lowest marks plus 7. The highest

score is 87. (Take the lowest score to be I).


https://dl.doubtnut.com/l/_i8aOckxUaj9g
https://dl.doubtnut.com/l/_TcHLTJu9gcXo

° Watch Video Solution

90. Solve the following: In a isosceles traingle,
the base angles are equal. The vertex angle is
40°. What are the base angles of the traingle?
(Remember, the sum of three angles of a

traingel is 180°).

° Watch Video Solution



https://dl.doubtnut.com/l/_TcHLTJu9gcXo
https://dl.doubtnut.com/l/_Hs2yv20sowPW

91. Solve the following : Sachin scored twice as
many runs as Rahul. Together their runs fell
two short of a doubel century. How many runs

did each one score?

o Watch Video Solution

92. Set up an equation in the following cases:
Irfan says that he has 7 marbles more than five

times the marbles Parmit has. Irfan has 37


https://dl.doubtnut.com/l/_8ZV6h11J2ktP
https://dl.doubtnut.com/l/_KiFwvyrUOYTj

marbles. (Take m to be the number of Parmit's

marbles).

° Watch Video Solution

93. Set up an equation in the following cases:
Laxmi's father is 49 years old. He is 4 years
older than three times Laxmi's age. (Take

Laxmi's age to be y years).

o Watch Video Solution



https://dl.doubtnut.com/l/_KiFwvyrUOYTj
https://dl.doubtnut.com/l/_OpZui0Spxgtb

94. Solve the following: People of Sundargram
planted trees in the village garden. Some of
the trees were fruit trees. The number of non-
fruit trees were two more than three times the
number of fruit trees. What whas the number
of fruit trees planted if the number of non-

fruit trees planed was 777

o Watch Video Solution



https://dl.doubtnut.com/l/_hsMqF9bgaNjl

95. Solve the following: | am a number, Tell my
identity! Take me seven times over And add a
fifity! To reach a triple century You still need

forty!.

o Watch Video Solution



https://dl.doubtnut.com/l/_oFoRZdNL8OBQ

